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[image: ]Answer Paper 10
(note: some fractions are simplified in this answers sheet, and non-simplified answers are equally acceptable)
	
	1. 568 + 100 = 668

	/2
	17. 576  6 = 96 (show your working for 2 marks) 


	
	2. 146 x 4 = 584
	
	18. 1.43 + 2.435 = 3.865


	
	3. 5.6 + 0.3  = 5.9 

	
	19. 3/7 + 2/7 = 5/7


	
	4. 43 x 3 = 129

	
	20. 4384 + 8534 = 12918


	
	5. 3456 + 543 = 3999

	
	21. 22561  7 = 3223


	/2
	6. 147  7 = 21 (show your working for 2 marks)

	/2
	22. 23 x 67 = 1541 (show your working for 2 marks)


	
	7. 456 - 9 = 447

	
	23. 4/5 + 1/10 = 9/10 


	
	8. 5.6 + 0.06  = 5.66

	
	24. 23.7 - 9.59 = 14.11


	
	9. [bookmark: _GoBack]5 x 5 x 5 = 125

	
	25. 342898 - 67543 = 275355


	
	10. 5/12  - 1/12  = 1/3

	
	26. 20 x 1  1/3 = 26  2/3


	
	11. 160  4 = 40

	/29
	Total /29

	
	12. 3.003 + 9.33 = 12.333

	
	

	
	13. 7 2 = 49

	
	

	
	14. 600000 - 500 = 599500

	
	

	
	15. 100 x 200 = 20000

	
	

	
	16. 1350  9  = 150
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Question Paper  10
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